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- @y : Geveflemmssner HI6AE L senars Qsreim_g).
This question paper contains four parts.

Note :

GO0y :

Note :

(i)

v}

L@l - 1/ PART -1

simensgl damss@ésh doLvaissab. 12x1=12
Qerpasiiul @erar preng LIPD dacsafsd Bea ohyeLu
e ifmens Cainds0ss GAS AL o laeayd Csrsg
TgFeHLD.

Answer all the questions,

Choose the most appropriate answer from the given four alternatives and write
the option code and the corresponding answer.
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2 CENSHlL ensels eraLg) argen fPLLL uRTUTGLD ?
(=) Gaur () s (8) Bewsdr () eorger
The endarch condition s the characteristic feature of :

@) Rpot (6) Stem () Leaves (d) Flowers

TFM erénuigy Gamy)bign g UGS Durmams GHédng ?

(=) gngy 20y (<2) @eul_L_Lblér

(&) Qampiy Qurm g6 (7) ariGurenant Gri
TFM in soaps Tepresents content in soap.

(a) Mineral (b) Vitamin

{c) Fatty matter (d) Carbohydrate
Gumgy eumy wmies e wély

(=) 381 Goréy—! K-1 (<) 8.03 ] Gomen—1 k-1
(@) 138 ] Cuome~1 K-1 () 831] Gome=1 k-1
The value of Universal Gas Constant :

(@) 381Jmol-1x-1 () 803fmol-1K-1
() 138 mol-1xK-1 (@) 831 mol-1K-1

&Gor aur’. wefl ererLg TEDOL SyuE ?

(1) Bleirgant craim (<) flehsL g5 Sipen

(8) \fér gpmed (%) e Hper
Kilowatt hour is the unit of :

(@ resistivity (b)  conductivity

(c) electrical energy (d) electrical power



-

3
DNA =eney Weul_ds wdra@h Gl
(1) LGymiig Guiah (<) Qe Mendn eramGLiflybaiGua
(@) DNA evaliaan (/) RNA Gprgdlser
An enzyme which cuts DNA is :
(a) Protease (b) Restriction endonuclease
(€) DNA Ligase (d) RNAase
G Gomd erarg _ apadsmpsent Qa e HsELD.
(81) 6.023%10%  (9,)6.023x10°8 (@) 3.0115%10% () 12.046x10%
One mole of any substance containg molecules.

(@) 6.023x108 (b)) 6023x10°F (o) 30115%10%  (d) 12.046x10%

poamwd Gyl erar oYL LU e ?

(1) Haflwew syond (egp) Dyt &y
(®) engoml® syl (rF) esifemes syid
Which one is referred as “Master gland” ?

(a) Pineal gland (b) Pituitary gland

(¢) Thyroid gland (d) Adrenal gland

srpm ol WEIESE Geiaoms pel@ugb graurmselda LarysCan®
Qurmnddenpg &8 ?

(=91) WeiiEeT Grynenome WwETBpBHsaEm e puFs Qrldape.

(<) @BOpguneng Gufugraab, QueaCu BlnsQararGb Boseo-

() weisd B, wemb wppib Gaer sré@b saenvulleanb Qe (HEHELD.
(%) campsppadias Afugraab e-aTbEsTE D BHED.

Which among the following is not the characteristic of anemophilous plants ?

(a) the flowers produce enormous amount of pollen grains,

(b) the stigmas are large and protruding,
(c) the flowers are brightly coloured, have smell and nectar.

(d) pollen grains are small and dry.
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9.

10.

11.

Spssam_apper Powoh asoad TS 7

(=) Qumaien eren (=) Canaflen Frivuy whHdsn

(8) Qunmelen Hlenn (7)) (1) whmyb ()

Inertia of a body depends on :

(a) Weight of the object (b}  Acceleration due to gravity of planet
() Mass of the object (d) Both (a) and (b)

Gvss UL ghar sfluren aflens ey ?

(1) Cleuaim’ Msfler — g flub — Sy — Floa]
(@) gl fiub - Geushr Médsr - ey > s
(@) e’ Awib - Qaugnl Aafer — soafl - ey
(7) Qeuamfsdlsr - Heny — g’ Awid — Swafl
Which is the correct sequence of blood flow ?

(@) Ventricle - Atrium — Vein — Arteries

®) é\trium —» Ventricle — Vein — Arteries

(¢) Atrium — Ventricle — Arteries — Vein

(d) Ventricle - Vein — Atrium — Arteries

Hlenaumeuanaipmer 675 “gaflolb + safion — Cston” aies DD 7
(1) Cy *02(5;" COyp (<2) 2Ky + Bragy— 2KBr

(@) 200 gy + Oy 200, (m) 4Fey) +30,,) 2Fe,0

Which of the following is not an “element + element — compound” type reaction ?
@ Coy tOnigy> Oy (b) 2Ky, +Brygy— 2KBr,g

(©) 2CO(g +Opy=2C0,, (d) 4Feq) + 30, 2Fey05
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12, endfefud GEaedle LHmGpmi 2 Fauneaugpm eremmy G,
(=) g ECadlur (<) arr&Gamor
(@) srifGermom (F) eNGurom
cancer of the epithelial cell is called as

@ Leukaemia (b) Sarcoma

© Carcinoma {(d) Lipoma

u@d - 11/ PART - II

@O0y : soalugib g darsseEsse sleolwalésayb. aam eer 22 -5E&
sl L muwnrs aflenweflésaib. Zximld

Note:  Answer any seven questions. Question No. 22 is compulsory.

11, Gsmpp Qauliu aflfie) @ewsid erénpmad erener ?

What is coefficient of apparent expansion ?

W darafleny aleraEsefier Liisver 2 Corso LwELBRESILGHADE. emd W
edl Gempuina SiFener Lwenu@ggieugldema. e ?
Why is(hngsten metal used in bulbs but not used as fuse wireg ?

15. gy cramug erener ? S(H PHEUTEGAISE FDGTLITL L E S5,

What is rust ? Give the equation for the formation of rust.

18, Gingn GrempTe ereman ?
What is stage ?

[g@ﬂqa / Turn over
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18.

20.

21.

6

@sGanr e Mg @y QuusHen CuaGlogsi srang grer SiopsstiLGEpg ?

Why is sinoatrial node called as pacemaker of heart ?

Yler tpeatulen Linskisdr wirened ?

What are the parts of the hind brain ?

A&TREs UL Rerar L gfa A, B, C wpmib D < du unERiISaeT BjanLmeTLD
&TeRTEYLD.

[dentify the parts A, B, C and D in the given figure,

E
= k___i%—k
i

Qemraevlrip ($buméd) erempméd erdiren 2 Limdy 2 HusHuirang aprGuransenme
eTeuaumm) PUEEUASSLLGEDS 7
What is colostrum ? How is milk production hormonally regulated ?

QuilrevL_rélev eremmre) e »

What is metastasis ?

G sarssiler pH i1 4.5 arafled, 24561 pOH wéllienLis snans.
If the pH of a solution is 4.5, find the valye of its pOH.
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U@$ - 1/ PART - T

g semauCugih gqp eflenré s @hie cllen walEsayh. elam cram 32 -&@E
ST eflen wiei&s ey, Txa=28

Note:  AnSwerany seven queslions. Question No. 32 is compulsory.

523.- ;g]ma)m,’fé]sh uGeuy cumsseer TOHEIEST HH@sLe cHlmEEs.

Explain the various types of inertia with examples.

2, (o) @upess wHob Aswipms sHMLESsHa TCS@ID APTD LISKTLSEDE TS,
() BenGermiL_gflen Clailiu efleearepeuls LTLBSS GauDUGD Sren® e
srgeniisaiien Quwderens saps.

(2) Write any three features of natural and artificial radioactivity.

(5) Name any two devices, which are working on the heating effect of current.

25 (@) MgSO,7H,0 e [iflener Qamiutiu(GsgbGung srerar Bandpg ? G claerd-
ST FLOGTLIML Iq NG GT(LPSHIG.
() seydlmetr — cuEny W MESLD.
{2) What happens when MgSO#711,0 s heated ? Write the appropriate equation.

(b) Define : Solubility.

26. (&) sours rrey erenpre erenan ?
() gafis CeidesufanGung @ dlesise e gdr gofi eflaem poCup
Geugir(Hd ?
(8) What is Respiratory Quotient ?
(6] Why should the light dependent reaction occur before light independent reaction during
photosynthesis ?
[ Agpliys / Turn over
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27.

28,

29

pwellen Lia QLU g e TSI,

Write the dental formula of rabbit.

(81) praurrser WHOID dangsale ylariy Hoo L —
smsLILGEDS ?

(o) Ppmenseir siaupPlar SEWLEET NG ULGL GG erdiainy s @SS
ulHéremen ?

{a) Why is Euploidy considered to be advantageous to both plants and ani 5

(b) Classify Neurons based on its structure.

saflsEyn, Aays@Esn e nier <Sigiue vl ereaeuny Camu@Hamer ?

How are Arteries and Veins structurally different from one another ?

cul Ly @er greupeiluch eTanUSHET cUDUNISE, IS (PSS CUEMS T(DSIS.

Define Ethnobotany and write its importance.

(<=1) srLflfdenmd ghuLdsmigw eflenataysar WTapay ?
(<) UNA &flyed Grenss Qpmfld mILFHar pLPON LWETUTHEDES Sais.
(a) What are the consequences of deforestation ?

(b) State the applications of DNA finger printing technique.

() Thg Siflan eigiblafiu e Gansgang QuuduLr Pleowss 2 uBEHID ? ger 2

(<) 15110 tpwsay 2 e 1y NH,Cl -ér Gurasefsn earafldansenw
GaTsR .

(a) Name the acid that renders Aluminium passive. Why ?

(b) Calculate the number of moleg in 1.51 % 1023 molecules of NH,CL.
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L@ - 1V / PART - IV
g vl Elannis aydieh afilen L wefldgsoqs. Gpmeiurean GLkiselld LD

WaLd,
e 3x7=21

Answer all the questions,

Note : Draw dingrams wherever necessary.

3 (@) ® GQaendlan Lwemadr wreney 7
@ PpcSfiens — aenpumdset.
(i) Curd@elrsEé meems ellensgae Hauy BpsHa SewEs0L P STTEMD
Gremer ?
(iv) pembd panGarrsduier Bifppera srerar ?
T
(@)@ erHQAymed ereipmed eraem ?

() erhApredl Comugpsrer Gran® Hupsemarsamets snmis.
(i) erfQureluden DGHGIAIL LIETEDETS So s,
(iv) erH@urallenuics vwaupsd pauddr SasGassass arars.

/{ﬂ/)1 ) What are the uses of convex lens ?
(i) Define dispersion of light.
(iii) Why are traffic signals red in colour ?

(iv) What is the least count of travelling microscope ?
OR

) (i) Whatisanecho?
fil) State two conditions necessary for hearing an echo.

(ili) What are the medical applications of echo ?

(iv) How can you calculate the speed of sound using echo ?

[ @@Ll“-lﬁ / Turn over



772%

34.

(=) G)

(i)
(<=8) ()
(i)
@ @
(i)
® @
(i)

10

@Gy Geuliu (g Hlencudes 3 6fl. O, 560l Cl, opgid 6 ¢l Hy QUL |&ESanaT
T(HGGIE ClSmeirL_med
(A) o5 =fs aaramismalona ApedamnsmeaTs QarargGEED ?
B) o5 Gonps memafsosdanar gaimpsmers CenargBEED 2
pelier oigns Ganaresulen Cam LTQaemeT T(pss.

S|EG
4L rQggeir s erauaury Beny wraliL@EsSdmen ?
$@ sAws Compb ‘A’ eaugar gadmy aritiun® CH0, G
UBLLESEsHS LBy Cugib cisamgiLer dmanufibg
Gefu wagpeLw Geiwbd ‘B -awus snANE aafld,
(4) Gaiwib ‘A’ -anwd swns.
(B) Gamoid ‘B’ e (peurge aflenamienat oT(1pg5.
©) @pPspsipen GuuiGs "

Under same condgiom of temperature and pressure, if you collect 3 litre of O,,
5 litre of Cl, and 6 litre of H,,

(A) Which has the highest number of molecules ?

(B) Which has the lowest number of molecules ?

Give the salient features of ‘Modern Atomic theory’.
OR

How do detergents cause water pollution ?

An organic compound ‘A’ is widely used as a preservative and has the molecular

formula C,H,0,. This compound reacts with ethanol to form a sweet smelling
compound ‘B, then

(A) ldentify the compound “A’.

(B) Write the chemical equation for its reaction with ethanol to form compound
‘B,

(C) Mame this process,



5. (1) @

(@)

(<) @

()

(i)
(i)

)

()

@

(i)

11
Qeupens o sadarad oo
WA STeiriimey wWirena ? TOEBEHTLG BHHS.
E@LD Sreursda o_g 5
L (‘5 Breursdler o_arar GRsg e Syeniolienl LTS Hmibd L S e
eflendEs.
S|susug
BBAL Ls@ L e Shens” eran JeopEsLILQRUGT W ?
2 Lsalily whpn Qeuafasein — CaupuPsss.
s 1 opb aens U Sl Comismar CupL(sss.
What are synthetic auxins ? Give an example.
With a neat labelled diagram, describe the parts of the typical angiospermic ovule.
OR
Who is called the “Father of Indian Green Revolution” ?
Differentiate between out-breeding and in-breeding,

Differentiale between Type-I and Type-1I Diabetes mellitus.

-olo-
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